METODO VOLT- AM PERM ETRICO

VAL ORI ATTES!
MISURA P Qcar S |
a= | 51,90451] Grani | 11 81,12 108,16 1352 1,04
11=| 1,056579
PC= | 81,06664 HITDRNAJ
PT= | 84,74464 Cc | STAMPA
QT= | 108,0964 ESEGUI
Qcar | 108,0889 —
a= | 51,9045 cram | f= | 50
11=| 1,039671 R1 = 75
PC= | 81,06872 XL1= 100
PT= | 84,74469 = £ XC1 =
QT= | 108,0964 E1 = 130
Ocar | 108,0916 ac = 53.13
VOLTMETRO A
Lint ba div lette VAL_MIS
0,000014| 0,06698| 42,263 1,0566
3.60874 129,96

CHE DEGLI STRUM

Lint ba P persa |div lette VAL MIS
0,000014| 0,06485| 41,587 1,0397
361111 130 130




